Chocolate Areas

Smile 0120

R =
3 {
- b A
b £
) / N
3 . R\ | &
. ™ P _— -
4 e ) Yo R
R, = [\ Y f ) v N
& R [\ . 0\ I
$ > iz “ o ) - [ 5 g 5
7 R 7y Qi & ¥ 4
G ol % ) £ % P G ¥ <
7, % () . D P & » & A \
&, 'A & /4 67} R\ B P B ‘,." N‘"‘ﬂ", 4
R v \ s 3 3 ‘ e f
5 R ) o o\ - '? s 4 £
> & “a R i ) 4 ;
w R 3 P 4 Yoo, A
2 \1 % F R o ¥ v %/
[\ o X >4 £ &z
X [\ 27 R ¥
. 1550 (i b e adin i}
3 R " F\ o & » o Iy
\ - .
i % % 7 X
b W
i 3
o X \ S
( \ ;

These 6 bars of chocolate all have the same thickness.
Each bar is rectangular and has a perimeter of 24cm.
Do you think the 6 bars have the same amount of chocolate?
Which bar of chocolate would you choose?




